ok & B B X i &
( PRk 27 7 A% )

X EH R | SAHKS X HE s XHAEAE 4R
(F)
VR2TFETH2H | 2% | ERTEEDOHMRBILHS ETHFA R VERRS - BB 4, 000
WRRTETASH | MRS | omsam B BkEREE 3, 000
FRRTETAIH | B | FAEREEZ A ERSBES 5, 000
VRRTHETHIHE | LR | SERRTAE) TN B @R s i ks - BEls 5, 000
WERTAETHAR | BRA | B BEZEEF R 3, 000
SER2THTH 4H =t AT T R#ATH RN (60X AR it RO R LRI Ea 2t (AR $THORNS 5, 000
VR2TEETAAR | 2% | B IEREANBZE AN S & 8, 000
TRRTHETHAR | O | EARERBAG4004EE THGE SV | &k LE=— 5, 000
FR2THETHER | =7 A H R L OBKE 4,000
FRRTETHIR | =% | oo FALMIXBUEBERA RS Ehls - BB 4,000
FETETAHIR | BRe | uikB2EEER 3, 000
WRR2TAETAOR | WA | kB HIEZEHE R 3, 000
VR2TETHIR | B | ERTEE ST REEEGE RS % OB S 5, 000
FRRTETALLA | =F AT b b Bl 6, 000
FRRTHETHIZA| =& | BB AA—MfZEr—Y = ML D TIRERTHRO Y 85 5, 500
TR2TAETA 4R | 2% | ERTEENE B MR HRicnt) ABEDs (R - fllR) 10, 000
FR2TFETHIOR | | Lo oWl R 408 it at - HiE S 5, 000
FR2TETHIOR | Ol | HVREMHER TuE EEA SRS —T 1 — 5, 000
YR 2THETH 16 H =y BRI - BT AT 4 F— s 3 V% v VR AR RN | 2 — 2B L OBER 5, 000
VHTHETAI6A | =% AR RSP TEE BRI R S# RS 6, 500
FR2TETHI6H | BUER | STERR2TARFE i B U X B A L 2 e ik 2 - BBl 5, 000
RRQTAETHITH | Pk NP R LR TS - B (kR - BlfR) 10, 000
FH2THETAITR | 2% | PINEERRAK SO S 3, 000
TRRTEETHISA | HiE | BlAkk LRERESDY 5, 000
VHR2TETHISA | =% | BLURERHE L ENES 8, 000
PR2THETHI9R [ fUE | ZB16 L5 THAh) HR0 5, 000
VR2TAETH20H | 28 | SERRTEE RFEKZ S R BRE RS 3, 000
VR2TAETA23A | Bl SENVEE AR D 5, 000
FRRTETH23A | 2% | 2R AR Y K& 3, 000
VRRTHETH23A | BERE | S~ F LER (BE1-25) 2, 750




ok & B B X i &
( PRk 27 7 A% )

XA R | XSy X HE s XHAEAE S H A
(F)
WRR2TEETH24 R | O | FRTEERRFEE LY 5, 000
WRR2TEETA25H | Ol | AL OIERESEDY 5, 000
ERR2TAETH25H | & G GRS SR IN =N i3 e 5, 000
FR2THETH2A | AR | B ~OF LEN VEEDIZH) 4,925
FR2THETH26 A | BEL | B ~0F LENR (BE15) 1, 500
WRR2TAETH28H | Pk (hBEAKBEGKOR] - [ () HHRMMTREIEEL Y FATERR] MR —T 1 — 5, 000
FRRTETHI0R | 2F | BTHITHERInERT S— FERSK THRBES 2,000
FRRTHETASIA [ g | EREITOOKOSME —T 1 — 5, 000
VR2TAETASIA | 2% | EReTEET MK A # T SEEFHEE HHESRE - THES - SRR 3, 000
aEl 39 1 186, 175
BE (27 FE)
7T A% 27 % BAGT
XXy (G2 X4 G2 X%

= # 17 85,000 58 312,000 M

L % 15 fF 80,000 49 fF 250,000 M

B & 4 A 12,000 1 9 1t 49,000

R OB & 0 (O 0 1 0o M

7 Q) G 0 (U 0 fF 0 M

PN ¢ 0 fF 0 M 1 fF 13,500 H

IS < ¢ 3 9,175 H 8 fF 29,991 H

z O fth 0 fF 0 M 2 M 13,000 H

& & 39 fF 186,175 H 127 667,491 M




